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TARGET MATHS- 25/25

Q:-Hw- A shopkeeper marks an article at Rs 60 and sells it at a discount of
15%. He also gives a gifts worth Rs 3. If he still makes 20% profit. Find the
cost price ?

Teh THTER 60 TUY T Ueh 6] U 3okt ohtal & S 3 15% hi TE X =T 2|
o€ 3 T T IUTR Y 3T g1 ATE T8 el WY 20% TATH HHTAT gl AW Hed 714

CILE L

(A) 51
(B) 40
OF
(D) 45
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Q:-1- The average salary of all the workers in a workshop is

Rs.8000. The average salary of 7 technicians is Rs.12000 and the
average salary of the rest is Rs.6000. Find The total number of

workers in the workshop.
32T: Ueh HIAITAT H T ATHeRT T 3T AaT 8000 TUX 2l 7 AhITSTIAAT kT 3TTEd

FA 12000 TIX T 3R AT T 3T Iq7 6000 TIX Tl HTAITEAT H Aferent 61 et
TTIT <R Ul U]

INRY
(B) 21
(C) 28
RE
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Q:-2- Age of A is 4 times of B. B is 1/3 times of C. If the ratio of age of A and
C become 13: 11

after 10 years then find the age of B after 8 years.

A T 3T B T ST T4 TATR | B, C T AT 6T 1/3 TAT R 10 T ATE A R C
<hT ATY ST ATATA 13: 11 T HATAT ¢ AT B hY 8 TN TG AT AT IS0

(A) 12 years/a¥
(B) 20 years/a'é‘
(C) 28 years/a'é‘

(D) 24 years/a¥
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Q:-3- The length of a rectangular field is increased by 30% and breadth is

decreased by 30%. What is the per cent increase or decrease in its area?

Teh ATIATRR T hl AT W 30% Y Fieg, TR AISTE W 30% hl THHT Y AT 2
SHch SIAHET | Toha TTa9Td ohl dfg a1 T 77

(A) 9%
(B) 16%
(C) 4 %

(D)12%
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Q:-4- The ratio of no. of students of two classes are 5:9, If 5 students are
admitted in each class the ratio will become 4:7. So find the number of

students in these classes now ?

IaT:- I T H et T ST 1 STTUTA 5:9 7| ATG Tk HaAT § 5
foramelf 3T STRIEAT & o, T ITHT 4:7 STUTA B ATAT 31 AT AT 3T heAreq °
et Teha foremeff 2T 2

(A) 220
(B) 240
(C) 260

P
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Q:-5- The employer decreases the number of his employees in the ratio 10:9
and increases their wages in the ratio 11:12. What is the ratio of his two

expenditures?
IqT:- Ueh (HATTHT = ST HHATAT ST SEITH 10:9 & TTATA | HHT hY AR
IR A/ 11:12 o STTUTA | g hT THATHT o ST @t ot AT ShITT.

(A) 55:54
(B) 54:55
(C) 3:2

(D) 2:3
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Q:-6- Pipes P and Q can fill a tank in 10 and 12 hours respectively and C can
empty it in 6 hours. If all the three are opened at 5 a.m., at what time will one-
fourth of the tank be filled?

P 31X Q &7 Ush 2ehl Sl SHAIT: 10 3T 12 TUET H T SR Tehel § AAT IHT Sehl T
Teh 37T 7T C 3 6 TUET H WTeAT ot HehdT ¢ | TS = o7 Ueh TTY TTA: 5 T
=Te] Y o ST, <iterts Seht foha THe deh W S

(A) 8 a.m./a ITa:
(B) 8 p.m./a< T
(C) 9 a.m./a T
(D) 8 p.m./aA T
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Q:-7- In a mixture of 50 litres the ratio of acid to water is 4 : 1. Another 6
litres of water is added to the mixture. What will be the ratio of acid to water

in the new mixture?

50 TteX TSuT § ST 3T T T STUT 4 : 1 31 38 Heiur 7 6 witeX Afaien
U T T ST &, a7 o7t 3T Ut ok T frsrur 7 stuta feRaet 81 St

(A) 5: 2
(B) 2: 5
(C)3: 5

(D) 5: 3
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Q:-8- If the average weight of a class is 15 kg. and the average weight of another
class is 30 kg. then find the ratio of the students of the first class to another class

students when the average weight of both the classes is 25 kg.
IET: Teh SHET T ST o1 15 TR, iR gkt et w1 sftera st 30 formm, 2 a

Ut e 3T FEt shert o ferenfoiat o ofter stuTa s hifsre afs S wemmett
e i 25 feRum, 2

(A) 2:1
(B) 1:2
(C) 3:2

(D) 2:3
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Q:-9- The present population of the town is 5000 if males increase by 10%
and females are increase by 15% and the population will becomes 5600 .

What was the no. of males in the village ?

IET: ITET T TAHT ATHEAT 5000 2 TS TET H 10% hY qieg Bt 7 3R
qfEeTSTl | 15% AT Ffg BT 7, IR TTEEAT 5600 T AT § | 4F I8 F THUT Ry
HEATE ?

(A) 3000
(B) 2000
(C) 4000

(D) 2000
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Q:-10- If radius of circle is decreased by 10%.then find the % change in its

Area ?

e fereft e < BT 10 % o o et 2 9 SHeR Shet § 9T IEeTd g 2
(A) 20%

(B) 19%

(C) 21%

(D) 30%
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Q:-11- The product of two successive numbers is 9506. What is the average

of the two numbers?

Y SHATTA HEATST T TUHEA 9506 T | AT HEATST T 16 82
(A) 97

(B) 98

(C)97.5

(D) 98.5
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Q:-12- A man spends 60% of his salary. If his income is increased by 30%
and expenditure is increased by 20% find % change in saving ?

SIS AR STUHT 3TRT AT 60 % Tl ShidT g AT IHAT 3T 30 % W I AT 8,
AT IERT T AT 20 % O 9 AT 81 A1 IHehl aod W oIT IgeATd gl 2

(A) 12 %
(B) 40%
(C) 45%

(D) 30%
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Q:-13- Dhruva and Sumit started a partnership investing amounts in the
ratio 2: 3. After 6 months, Praveen joined the partnership, with an amount
equal to Sumit. The profit at the end of one year should be distributed among
Dhruva, Sumit and Praveen in the ratio

e AR A 2: 3 % FATUTA H GATIT AT ek VTS | Teh SATIR TFA
A ¢ | 6 TTE ATE, TAUT ATSERT |, YA ok SRTER LA (A9 shteh IS ST §
| Uk &Y ok 3 H, Y, YiAd 3R T&07 H i T ST AT | ST97d 3

INVIRIE:
(B) 4: 6: 3
(C) 2: 6: 3
(D) 3: 4: 5
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Q:-14- The cost price of 20 articles is the same as the selling price of x

articles. If there is 25% gain, then the value of x

20 TEFAN T T oI x TN o {T5hT Ao ok TR § | ATE 25% 1 TTH &,
X T A §

(A) 15
(B) 16
(C) 18

(D) 25
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